WATEROUS

Issue Date

07/19/82

Document Number

SPL81113

Rev. Date

7/19/16

CM or CS to CP Piping, CMY/CPK, CMPA/CPK, CSY/CPK or CSPA/CPK Pumps

Service Parts List

REF NO. DESCRIPTION REF NO. DESCRIPTION
1 Pipe bushing, reducing, 2-1/2 in. x 1-1/2 in. 27 Discharge extension, 8 in.
2 Pipe bushing, reducing, 2 in. x 1-1/2 in. 28 Spacer, 1-1/8 in.
3 Street elbow, 90° x 1-1/2 in. 29 Tapped flange, 2-1/2 in. NPT
4 Pipe nipple, 1-1/2 in. x 6 in. 30 Gasket
5 Ball valve, 1-1/2 in. (CPK-1 only) 31 O-ring, 3-1/2 in. x 3-3/4 in.
5 Ball valve, 2-1/2 in. (CPK-2 only) 32 Hex hd screw, 7/16-20 x 2-3/4 in.
6 Hose, 1-1/2 in. x 44 in. (CPK-1 only) 33 Hex nut, 7/16-20
6 Hose, 2-1/2 in. x 41 in. (CPK-2 only) 34 Pipe bushing, reducing, 3/8 in. x 1/4 in.
8 Street elbow, 90° x 2 in. 35 Hose, 1/4in. x 23 in.
9 Check valve, 1/4 in. 36 Union adapter, straight, 1/4 in.
11 Swivel adapter, 1/4 in. 37 Hex hd screw, 7/16-14 x 1-1/4 in.
13 Pipe reducer, 1/4in.x 1/8 in. 38 Pipe coupling, 1/4 in.
15 Street elbow, 45° x 1/8 in. 39 Pipe nipple, 1/4 x 7/8 in.
16 Street elbow, 90° x 1/4 in. 40 Hex hd screw, 7/16-20 x 2-1/4 in.
17 Hose, 1/4in. x 36 in. 41 Tapped flange, 2-2/1 in. NPT
18 Pipe nipple, 1/8 in. x 1-1/2 in. 42 Tapped flange, 2 in. NPT
19 Tube clamp 43 Tapped flange, 1-1/2 in. NPT
20 Round hd self tapping screw, no. 10-24 x 3/8 in. 44 Pipe nipple, 2 in. x 2 in.
21 Pipe bushing, reducing, 3 in. x 2-1/2 in. 45 Hex hd screw, 7/16-20 x 1-1/2 in.
22 Street elbow, 90° x 3 in. 46 Pipe nipple, 2-1/2 x 4 in.
23 Bushing adapter, 3 in. NPT female x 3 in. BSP male 47 Hex hd screw, 7/16-14 x 2-1/4 in.
24 Pipe nipple, 2-1/2 in. x 10 in. 48 Ball valve kit
25 Elbow, 2-1/2 in. 49 Replacement valve ball
26 Pipe nipple, 2-1/2 in. x 2-1/2 in.

Waterous Company, 125 Hardman Avenue South, South St. Paul, Minnesota 55075 USA (651) 450-5000 www.waterousco.com

NOTE: When ordering parts, provide the Pump, Transmission or PTO Serial Number.




20

MECHANICAL SEAL/PACKING
COOLING LINE FOR CPK PUMP

"
9
FIRST STAGE VOLUTE OF CM PUMP
OR /
SINGLE VOLUTE ON CS PUMP
,;;\p‘-‘\‘\ /,,.

/’ ARRANGEMENT
‘\ - PRIOR TO 1-18-00 -
S S \\\
16 S

>
) ~ 13
/ 18 1\\\\\ :
9| . |
Y 36 o NOTE © % >

_EFT SIDE DISCHARGE
=ITTING ON CM OR CS PUMP

FITTING 15 IS
S INSTALLED INSIDE |

. /,/
" CPK PU EAD ¥ g
35 >~ S
- ~
PURGE ™ / ARRANGEMENT

P H
LINE > AFTER 1-18-00

~ - /@
- 38
PN P
T
S // \/7(\ %RRANGEMENT
A /////

M
~.

AFTER 9-1-00

ARRANGEMENT
AFTER 04-16-01

N /” . )

NG , p:
ARRANGEMENT M

PRIOR TO 04-16-01 QD
<
0 <
6
§

INTAKE LINE FOR CPK PUMP CPK—1 CONFIGURATION

SPL81113
Page 2 of 4



FIRST STAGE VOLUTE OF CM PUMP 11

OR
SINGLE VOLUTE ON CS PUMP e
/
-

/ - NOTE:
FITTING 15 IS
5 - INSTALLED INSIDE

/ CPK PUMP HEAD
< ARRANGEMENT ‘
\

I3\ PRIOR TO 1—18—00—\/
N // i
18
5

MECHANICAL SEAL/PACKING
COOLING LINE FOR CPK PUMP

_EFT SIDE DISCHARGE FITTING
ON CM OR CS PUMPS

.
13

< ARRANGEMENT

L
~ @ AFTER 1-18-00
38
J

ARRANGEMENT
AFTER 9-1-00

ARRANGEMENT
PRIOR TO 4-16

ARRANGEMENT
AFTER 4-16-01

CPK—-2 CONFIGURATION

SPL81113
Page 3 of 4



6 r%\w\(m \25

FIRST STAGE VOLUTE OF CM PUMP 47
OR
SINGLE VOLUTE ON CS PUMP

MECHANICAL SEAL/PACKING

ARRANGEMENT COQLING LINE FOR CPK PUMP

AFTER 04-16-01

LEFT SIDE DISCHARGE FITTING
ON CM OR CS PUMPS

26
(MODEL CPK-2 WITH
NPT THREADS)

6
35
46
(MODEL CPK-2 WITH o
BSP TAPERED THREADS) ',
Al
~

e /ﬁ CPK PUMP INTAKE

Q\ﬁ\
©¢ { y S 16

ARRANGEMENT
BEFORE 04-16-01

CPK—2 CONFIGURATION
SPECIAL CONFIGURATION USED FOR THE FOLLOWING APPLICATIONS:
1. WHEN ASSEMBLED WITH A CM PUMP THAT HAS A TOP
MOUNTED TRANSFER VALVE ACTUATOR.
2. WHEN ASSEMBLED WITH A MIDSHIP PUMP THAT HAS A FOAM
MANIFOLD MOUNTED OVER THE TOP WITH A LEFT HAND DISCHARGE. INTAKE LINE FOR CPK PUMP

ARRANGEMENT
AFTER 04-16-01

SPL81113
Page 4 of 4



